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RATIO AND PROPORTION

Solved Examples

1. Express each of the following rations in

simplest form :

54 :63


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_3svN2YiTSdj0

° Watch Video Solution

2. Express each of the following rations in

simplest form :

1 1
6 9

° Watch Video Solution

3. Express each of the following rations in

simplest form :

41'11
2 78

| e |


https://dl.doubtnut.com/l/_3svN2YiTSdj0
https://dl.doubtnut.com/l/_OD3Vc9apxYxV
https://dl.doubtnut.com/l/_BnnbynQuL8gt

& Wwatch Video Solution ]

4. Express each of the following rations in

simplest form :

13'21'11
47276

° Watch Video Solution

5. Divide ¥ 3400 between A and B in the ratio 6

: 11

o Watch Video Solution



https://dl.doubtnut.com/l/_BnnbynQuL8gt
https://dl.doubtnut.com/l/_6SiStdHEQxqe
https://dl.doubtnut.com/l/_9dvlWhchWCqY

6. Divide ¥ 7200 among A, B and C in the ratio
1 11
36 4

° Watch Video Solution

7. A certain amount has been divided into two
parts in the ratio 4 : 7 . If the first part is ¥ 600,
find

the second part and

o Watch Video Solution



https://dl.doubtnut.com/l/_OJL3WtCamcN7
https://dl.doubtnut.com/l/_vlNKdu7GCMoQ
https://dl.doubtnut.com/l/_4OIXCsEhIYAs

8. A certain amount has been divided into two
parts in the ratio 4 : 7 . If the first part is ¥ 600,

find

the total amount

° Watch Video Solution

9. Two numbers are in the ratio 3 : 7 and their

difference is 36. Find the number.

o Watch Video Solution



https://dl.doubtnut.com/l/_4OIXCsEhIYAs
https://dl.doubtnut.com/l/_3Znq8iCnpsoX
https://dl.doubtnut.com/l/_zKNVtODWrlto

10.Ifa:b=5:6andb:c=12:25,finda:c

o Watch Video Solution

MN.Ifa:b=3:5andb:c=4:7,finda:b:c

o Watch Video Solution

12. Which ratio is greater,13:24 or 17:32 ?

o Watch Video Solution



https://dl.doubtnut.com/l/_zKNVtODWrlto
https://dl.doubtnut.com/l/_buTcOHmHjaeG
https://dl.doubtnut.com/l/_GlzPN7BPv1k7
https://dl.doubtnut.com/l/_E8cxDBAEckhh

13.Increase 224 in theratio 7 : 9

o Watch Video Solution

14. Check whether the following numbers are
in proportion or not :

20,18, 5,6

o Watch Video Solution

15. Check whether the following numbers are

in proportion or not :


https://dl.doubtnut.com/l/_E8cxDBAEckhh
https://dl.doubtnut.com/l/_hKpFKdtqnnUD
https://dl.doubtnut.com/l/_VWYUiJK6shdT

3.6,04,4.5,0.5

o Watch Video Solution

1 1
16. Find the value of x when 35 T X :25 14

o Watch Video Solution

17. Find the fourth proportional to 7.2,1.8, 8.

4

° Watch Video Solution



https://dl.doubtnut.com/l/_VWYUiJK6shdT
https://dl.doubtnut.com/l/_SonVcjfzH7bo
https://dl.doubtnut.com/l/_jr8dNFrY9Ixg

18.If 36, x, 16 are in continued proportion, find

the value of x.

o Watch Video Solution

19. Find the mean proportion between :

18 and 8

o Watch Video Solution



https://dl.doubtnut.com/l/_ftdQB4I41frc
https://dl.doubtnut.com/l/_VdPORvcqufsQ

20. Find the mean proportion between :

2.5and 0.9

o Watch Video Solution

21. Find the mean proportion between :

25,15

o Watch Video Solution



https://dl.doubtnut.com/l/_lKgxbOkfDrzA
https://dl.doubtnut.com/l/_SNF4oBj3z1JS

22. Find the mean proportion between :

716
57

o Watch Video Solution

23. Find the mean proportion between :

3.6,18

o Watch Video Solution



https://dl.doubtnut.com/l/_kH2vqhKGVnQB
https://dl.doubtnut.com/l/_1xWdLTbUZFSl

24. If 6 books ¥ 615, how much do 10 books

cost ?

o Watch Video Solution

25. An aeroplane covers a distance of 2415 km
in 6 hours. How distance will it cover in 8

hours ?

o Watch Video Solution



https://dl.doubtnut.com/l/_pigzFNruVNf8
https://dl.doubtnut.com/l/_ZYAZSeMc0nlk

1. Express each of the following ratios in
simplest form :

20:35

o Watch Video Solution

2. Express each of the following ratios in
simplest form :

95:.57

o Watch Video Solution



https://dl.doubtnut.com/l/_enzR1tOPkh97
https://dl.doubtnut.com/l/_JnU5WtgAk0ZM

3. Express each of the following ratios in
simplest form :

21:1.2

o Watch Video Solution

4. Express each of the following ratios in

simplest form :

31'61
4" "2

o Watch Video Solution



https://dl.doubtnut.com/l/_CysF3EGQqvCS
https://dl.doubtnut.com/l/_4xAzaO3gSiQY
https://dl.doubtnut.com/l/_wxKKQKVDMk6T

5. Express each of the following ratios in
simplest form :

6a: 9

o Watch Video Solution

6. Express each of the following ratios in

simplest form :

8ab’: 6a’b

o Watch Video Solution



https://dl.doubtnut.com/l/_wxKKQKVDMk6T
https://dl.doubtnut.com/l/_l36V9qOTqi7r
https://dl.doubtnut.com/l/_9omMGBCXoN6a

7. Express each of the following ratios in

simplest form :

1 1
8 12

o Watch Video Solution

8. Express each of the following ratios in

simplest form :
1 1
9 6

o Watch Video Solution



https://dl.doubtnut.com/l/_9omMGBCXoN6a
https://dl.doubtnut.com/l/_w9Sh3XPLA8yl

9. Express each of the following ratios in

simplest form :
2 5
3 6

o Watch Video Solution

10. Express each of the following ratios in

simplest form :
1 1 1
46 8

o Watch Video Solution



https://dl.doubtnut.com/l/_ObCtrGSs3nqS
https://dl.doubtnut.com/l/_pusDexk9dGdU
https://dl.doubtnut.com/l/_FrSjM2fVxTev

1. Express each of the following ratios in

simplest form :

2,1 3
372774

o Watch Video Solution

12. Express each of the following ratios in

simplest form :

2~ 3212
3°74°76

o Watch Video Solution



https://dl.doubtnut.com/l/_FrSjM2fVxTev
https://dl.doubtnut.com/l/_Q8zeNfxb4qy0
https://dl.doubtnut.com/l/_aakCQuvCRdNT

13. Express each of the following ratios in
simplest form :

35 paise: ¥ 1

o Watch Video Solution

14. Express each of the following ratios in
simplest form :

1kg:375¢g

o Watch Video Solution



https://dl.doubtnut.com/l/_aakCQuvCRdNT
https://dl.doubtnut.com/l/_XRGZkDDQ3Ekj

15. Express each of the following ratios in
simplest form :

60cm: 1m

o Watch Video Solution

16. Express each of the following ratios in
simplest form :

400 m:1km

o Watch Video Solution



https://dl.doubtnut.com/l/_QIVaCRX46h0L
https://dl.doubtnut.com/l/_JKbsglETJYoT
https://dl.doubtnut.com/l/_zxzx7BtysR5w

17. Express each of the following ratios in
simplest form :

8 months : 1§ years

o Watch Video Solution

18. Express each of the following ratios in
simplest form :

2
6§ hours : 1 day

o Watch Video Solution



https://dl.doubtnut.com/l/_zxzx7BtysR5w
https://dl.doubtnut.com/l/_lYeIUJmAICLd
https://dl.doubtnut.com/l/_APTqsJXdgS3x

19. The angles of a triangle are in the ratio 5: 6

: 7 . Find each angle.

° Watch Video Solution

20. A line segment of length 84 cm has been
divide into two parts in the ratio 4 : 3 . Find

the length of each part

° Watch Video Solution



https://dl.doubtnut.com/l/_APTqsJXdgS3x
https://dl.doubtnut.com/l/_cjbTukujgfL1

21. Divide ¥ 3900 between Kunal and Kirti in

the ratio 15 : 11

o Watch Video Solution

22.Divide ¥ 16250 among A, B, C in the ratio 5:

7:13

o Watch Video Solution



https://dl.doubtnut.com/l/_s7ltNYAEmiLU
https://dl.doubtnut.com/l/_WcRsBZinGRm8

23. Divide 35 sweets Sudha and Tanvy in the

oL
ra|02.3

o Watch Video Solution

24. Divide 468 g of rice into three heaps

containing the quantities in the ratio

11 1

6 8 12

o Watch Video Solution



https://dl.doubtnut.com/l/_PCPREtXT0zny
https://dl.doubtnut.com/l/_rijsnLYHTEM1

25. Divide ¥ 715 among A, B, C in such a way
that B gets three times as much as A gets and

C gets half of as much as B gets .

o Watch Video Solution

26. Divide ¥ 760 among A, B, C such that A gets
5 of what B gets and the ratio between the

shares of Band Cis3: 4

o Watch Video Solution



https://dl.doubtnut.com/l/_O3wCrWqKNEqX
https://dl.doubtnut.com/l/_lCoQf2ZBCt4x
https://dl.doubtnut.com/l/_mfdiK8KThucN

27. The boys and girls in a school are in the
ratio 8 : 3 . If the number of girls is 405 ;how

many boys are there in the school

o Watch Video Solution

28. An alloy contains copper and zinc in the
ratio 7 : 3. If it contains 12 . 6 g of copper, how

much does this alloy weight ?

o Watch Video Solution



https://dl.doubtnut.com/l/_mfdiK8KThucN
https://dl.doubtnut.com/l/_bMQHm0Va6KIZ
https://dl.doubtnut.com/l/_taXxHbsMJKlQ

29. Reena weighed 63 kg. She reduced her

weight in the ratio 9: 8. Find her new weight .

° Watch Video Solution

30. Two numbers are in the ratio 9 : 13 and

their sum is 176 . Find the number.

o Watch Video Solution

31. Two numbers are in the ratio 5 : 8 and their

difference is 12 . find the number.


https://dl.doubtnut.com/l/_taXxHbsMJKlQ
https://dl.doubtnut.com/l/_uKuYamzXeO01
https://dl.doubtnut.com/l/_9nrzgO6jolYL

° Watch Video Solution

32.fa:b=3:2andb:c=4:5,finda:c

° Watch Video Solution

33.fa:b=5:6andb:c=2.8:35,finda:c

° Watch Video Solution



https://dl.doubtnut.com/l/_9nrzgO6jolYL
https://dl.doubtnut.com/l/_SkNmizCLcjB6
https://dl.doubtnut.com/l/_WbGNQObleyaj

34.1fp: -11'11 dq: _ 11 find
fp:q=1z:15andq:r = o: =, findp

. r

o Watch Video Solution

35.fa:b=3:4andb:c=8:9,finda:b:c

o Watch Video Solution

36.If | -21°12 d -11°31 find
JAfl:m = 5 3an m:n-= 1 2,n

l:m:n



https://dl.doubtnut.com/l/_iL5Am2b0YnQT
https://dl.doubtnut.com/l/_QkutLiOtZSBx
https://dl.doubtnut.com/l/_ZU42nXtwx3Jn

o Watch Video Solution

37. Which ratio is greater ?

(3:4)or(5:7)

o Watch Video Solution

38. Which ratio is greater ?

(11:21) or (19 : 28)

o Watch Video Solution



https://dl.doubtnut.com/l/_ZU42nXtwx3Jn
https://dl.doubtnut.com/l/_P88lFkTZHEMe
https://dl.doubtnut.com/l/_NPZruooOIHSH

1. Which of the following statements are true ?

51:68=85:102

o Watch Video Solution

2. Which of the following statements are true

?

1.5:25=36:6

o Watch Video Solution



https://dl.doubtnut.com/l/_5FmKHRK1Wd4f
https://dl.doubtnut.com/l/_nXvazkU5zV4o

3. Which of the following statements are true

?

30 bags : 18 bags =¥ 450:% 270

o Watch Video Solution

4. Which of the following statements are true

?

32kg:X36 = 8kg: X9

o Watch Video Solution



https://dl.doubtnut.com/l/_8eztTU14LiRn
https://dl.doubtnut.com/l/_DRlTINeRCUYp
https://dl.doubtnut.com/l/_LwxsFsesTolw

5. Check whether the following numbers are in
proportion or not :

30,40, 45, 60

o Watch Video Solution

6. Check whether the following numbers are in
proportion or not :

221 331
7277 2

o Watch Video Solution



https://dl.doubtnut.com/l/_LwxsFsesTolw
https://dl.doubtnut.com/l/_sIunnrQCqgna
https://dl.doubtnut.com/l/_QouTgwotvEqW

7. Check whether the following numbers are in
proportion or not :

038,3,24,9

o Watch Video Solution

8. Check whether the following numbers are in

proportion or not :

o Watch Video Solution



https://dl.doubtnut.com/l/_QouTgwotvEqW
https://dl.doubtnut.com/l/_wepO55qT0vbT

9. Check whether the following numbers are in

proportion or not :

o Watch Video Solution

10. Find the value of x in each of the following :

42 :12::7:X

o Watch Video Solution



https://dl.doubtnut.com/l/_EvRngOj9pLF3
https://dl.doubtnut.com/l/_qmTyMYcxdOBu

11. Find the value of x in each of the following :

1.8:x::2.4:6.0

o Watch Video Solution

12. Find the value of x in each of the following :

6:08::x:10

o Watch Video Solution



https://dl.doubtnut.com/l/_VAc0lUpwZdXD
https://dl.doubtnut.com/l/_uw4X5I6lNSxx

13. Find the value of x in each of the following :

Xx:16::21:84

o Watch Video Solution

14. Find the value of x in each of the following :

11. ..1.1

o Watch Video Solution



https://dl.doubtnut.com/l/_uXZzrolPk57L
https://dl.doubtnut.com/l/_SM27c0JEwkjO

15. Find the value of x in each of the following :

16:x: :x:25

o Watch Video Solution

16. Find the fourth proportional to :

4,9,32

o Watch Video Solution



https://dl.doubtnut.com/l/_wyWNxUsnBB2y
https://dl.doubtnut.com/l/_Z9fdS5fHTsF6

17. Find the fourth proportional to :

15,6, 7

° Watch Video Solution

18. Find the fourth proportional to :

0.6,15,3

o Watch Video Solution



https://dl.doubtnut.com/l/_51IG7ROqp71X
https://dl.doubtnut.com/l/_0cs4pbRQqh5C

19. Find the fourth proportional to :

1

57 76

ol Do

o Watch Video Solution

20. Find the fourth proportional to :

21 26 31
2’72

o Watch Video Solution



https://dl.doubtnut.com/l/_BJbz2gpgZ0zz
https://dl.doubtnut.com/l/_Oj3eP9dlVQUr

21. Find the fourth proportional to :

3 hrs 12 min, 24 min, 1 m 68 cm

o Watch Video Solution

22. Find the mean proportion between

81 and 121

o Watch Video Solution



https://dl.doubtnut.com/l/_QXGqvu3H17kI
https://dl.doubtnut.com/l/_bmbWGT0OBEuS

23. Find the mean proportion between

1.8and 0.2

o Watch Video Solution

24. Find the mean proportion between

2 8
— and —

3 27

o Watch Video Solution



https://dl.doubtnut.com/l/_XxE3gQwS4LRW
https://dl.doubtnut.com/l/_dLp1xsICGzdp

25. Find the mean proportion between

0.32 and 0.08

o Watch Video Solution

26. Find the mean proportion between

1 1
— and —

25 16

o Watch Video Solution



https://dl.doubtnut.com/l/_AHaOUpbl21Az
https://dl.doubtnut.com/l/_EDJ1o3epZPoF

27.Find the third proportional to :

36, 12

° Watch Video Solution

28. Find the third proportional to :

1.2,0.6

o Watch Video Solution



https://dl.doubtnut.com/l/_DlHtdFXnnBn0
https://dl.doubtnut.com/l/_c8rHLKR1Eq62

29. Find the third proportional to:

1 2
9’ 3

o Watch Video Solution

30. Find the third proportional to :

1Tm60cm,40 cm

o Watch Video Solution



https://dl.doubtnut.com/l/_RbIbLsA2khDi
https://dl.doubtnut.com/l/_dvjjuKTHX49J

31. Find the third proportional to :

1kg 250 g,500 g

o Watch Video Solution

32. Find the third proportional to :

$2.40,34.80

o Watch Video Solution



https://dl.doubtnut.com/l/_kVt09qvaTukj
https://dl.doubtnut.com/l/_BJkLqzAQOC4q

33. Show that 6, 36, 216 are continued

proportion.

o Watch Video Solution

34. If 8 pens cost ¥ 356, what is the cost of 14

pens ?

o Watch Video Solution



https://dl.doubtnut.com/l/_DT4UC2Q8oTkE
https://dl.doubtnut.com/l/_7L1YzI368cEh

35. A uniform iron bar of length7 m weight
224 kg. How much does the same bar of

length 13 m weight ?

o Watch Video Solution

36. A distance of 68 km is represented on a
map by 1.7 cm . What distance is represented

by 8.5 cm on the same map ?

o Watch Video Solution



https://dl.doubtnut.com/l/_IhhCNEPYMmjD
https://dl.doubtnut.com/l/_tVp98OLNron5
https://dl.doubtnut.com/l/_FMZFop5gg0xM

37. A bus is running at a uniform speed. It
covers a distance of435 km in 6 hours. How

much distance will it cover in 8 hours ?

o Watch Video Solution

38. If 15 men can dig a trench 35 m long in 1
day, then how many men can dig a similar

trench 84 mlong in 1day?

o Watch Video Solution



https://dl.doubtnut.com/l/_FMZFop5gg0xM
https://dl.doubtnut.com/l/_lsHzz6wOUwvz

1. Arun is walking at a speed of 6 km per hour.
Find the: a. distance Arun will cover in 2 hours.

b. time Arun will take to cover 4 km.

° Watch Video Solution

2. Ritu types 540 words in half an hour. How

many words will she type in 9 minutes?

o Watch Video Solution



https://dl.doubtnut.com/l/_tW3EXdYZRgEf
https://dl.doubtnut.com/l/_eiagbBR9ppDV

3. The thickness of 500 sheets of paper is 3.5
cm. What will be the thickness of 350 sheets of

this paper?

o Watch Video Solution

4. 35 cartons of 24 soap bars each cost &
15,120. Find the cost of 20 cartons of 40 soap

bars each.

o Watch Video Solution



https://dl.doubtnut.com/l/_83VBwalIefKD
https://dl.doubtnut.com/l/_4f973bxiz3Ds
https://dl.doubtnut.com/l/_51RAOYHfC8X0

5. Ajay takes 22.5 minutes to reach Geeta's
house if he drives at an average speed of
40km/hr. Geeta takes 15 minutes to reach
Ajay's house. Find the distance between the
houses of Ajay and Geeta. Also, find Geeta's

average speed.

o Watch Video Solution

6. Divide 98 marbles between piyush and ankur

in the ratio 3:4.

o Watch Video Solution



https://dl.doubtnut.com/l/_51RAOYHfC8X0
https://dl.doubtnut.com/l/_PfQMoxuqBHPO

1 1 1

7. Divide $440 in th tio—:—:—.
ivide in eralo6 03

o Watch Video Solution

8. A bag contains 5, 10, and 20 notes in the
ratio 4:7:5. If there are 80 notes in all, find the

amount of money in the bag.

o Watch Video Solution



https://dl.doubtnut.com/l/_PfQMoxuqBHPO
https://dl.doubtnut.com/l/_YwdC55zMoM2z
https://dl.doubtnut.com/l/_cHg0giR3FRx2

9. Arrange the ratios 5:6, 7:10, and 13:15 in

ascending order.

o Watch Video Solution

10. Arrange the ratios 4:5, 11:20, and 9:25 in

descending order .

o Watch Video Solution

1. Find x given that 5: x::13:39.



https://dl.doubtnut.com/l/_Ych6iU0Wn53J
https://dl.doubtnut.com/l/_OiRYt7dD8z5c
https://dl.doubtnut.com/l/_yZHEjj3JQxHA

o Watch Video Solution

12. What must be added to each of the four
numbers 6, 9, 12, and 17 such that the new

numbers are in proportion?

o Watch Video Solution

13. A map is made with the scale 1 cm:

50,00,000 cm. If the distance between two


https://dl.doubtnut.com/l/_yZHEjj3JQxHA
https://dl.doubtnut.com/l/_p3ChS5xonV7l
https://dl.doubtnut.com/l/_wifpJtD2AQjV

cities on the map is 4 cm, find the actual

distance between the two cities in kilometres.

° Watch Video Solution

14. Are 3,6 and 12 in continued proportion?

° Watch Video Solution

15. If A=2B =5C find the ratio A:B: C.

° Watch Video Solution



https://dl.doubtnut.com/l/_wifpJtD2AQjV
https://dl.doubtnut.com/l/_lZWvutNxENVY
https://dl.doubtnut.com/l/_U22UKnu9823k

16.If X: Y=2:3 and Y:Z=3:4 find X:Z.

o Watch Video Solution

17.If a :b =3:5 find 2a +3b: 4a+5b

o Watch Video Solution

1
18. A can is Zth full of water. When this water

is poured into another can, the other can is


https://dl.doubtnut.com/l/_3mkOVWSL58Ik
https://dl.doubtnut.com/l/_rhdQ49kGYOYT
https://dl.doubtnut.com/l/_q6EKxhuiU1fo

3
gth full of water. Find the ratio of the

capacity of the first can to that of the second.

o Watch Video Solution

19. The LCM of two numbers which are in the

ratio 3:8 is 144 . Find the two numbers

o Watch Video Solution

20. The ratio of the ages of Riti and Nakul is

2:3. Eight years ago, the ratio of their ages was


https://dl.doubtnut.com/l/_q6EKxhuiU1fo
https://dl.doubtnut.com/l/_4AC4q7DUFK4k
https://dl.doubtnut.com/l/_lvF8Iu38tEHA

2:5. Find! their present ages.

o Watch Video Solution

1. A private taxi charges a fare of 2600 for a

journey of 200 km. How much would it travel

for & 29517

o Watch Video Solution



https://dl.doubtnut.com/l/_lvF8Iu38tEHA
https://dl.doubtnut.com/l/_6t3wT53YIoJB

2. A car covers 150 km in 3 hours. How much

distance would the car cover in 12 minutes?

o Watch Video Solution

3. Priti drives at an average speed of 80 km/h
and reaches the post office from her house in
6 minutes. On her way back, Priti reaches her
house in 4 minutes 48 seconds. Find the

distance between Priti's house and the post


https://dl.doubtnut.com/l/_fNh8CqnHtvR6
https://dl.doubtnut.com/l/_hCU8nwRegtoC

office and also Priti's average speed on the

return journey.

° Watch Video Solution

4. 30 cartons, each containing 18 packets of
cookies, cost 4.860. Find the cost of 26 cartons,

each containing 24 packets of cookies.

° Watch Video Solution



https://dl.doubtnut.com/l/_hCU8nwRegtoC
https://dl.doubtnut.com/l/_7c2MfSqSwfSg

5. A stationery box has 15 pencils and 21 pens.
Express in simplest form:
The ratio of the number of pencils to the

number of pens

o Watch Video Solution

6. A stationery box has 15 pencils and 21 pens.
Express in simplest form:
The ratio of number of pens to the total

number of stationery items in the box

| & I


https://dl.doubtnut.com/l/_BYwPeW5SyuWg
https://dl.doubtnut.com/l/_YHckLvN713QC

| ¥ Watch Video Solution

7. Express the given ratios in simplest form:

a.49:77 b. 55:99

o Watch Video Solution

8. Find the ratio of :

300 mm to 8 cm

o Watch Video Solution



https://dl.doubtnut.com/l/_YHckLvN713QC
https://dl.doubtnut.com/l/_RW79KT7LvTxH
https://dl.doubtnut.com/l/_HjylxbytMtpD
https://dl.doubtnut.com/l/_MXpteAAz8M9X

9. Find the ratio of :

1
35 min to 15 h

o Watch Video Solution

10. Find the ratio of :

Tkg 200 gto3 kg 250 g

o Watch Video Solution

11. Find the ratio of:

25 mmto 15 cm


https://dl.doubtnut.com/l/_MXpteAAz8M9X
https://dl.doubtnut.com/l/_IMyx894dbztj
https://dl.doubtnut.com/l/_0iVTV9uexX6V

° Watch Video Solution

12. Find the ratio of :

40 min to 2Z hours

o Watch Video Solution

13. Compare the ratios 2:5 and 3:7.

o Watch Video Solution



https://dl.doubtnut.com/l/_0iVTV9uexX6V
https://dl.doubtnut.com/l/_1LEslNOgCCMx
https://dl.doubtnut.com/l/_9L5g7De2F3nR

14. Write four equivalent ratios for a. 3:5 b. 5:9

c.4:7

o Watch Video Solution

15. Find the value of a given that 3, a, 5, 20 are

in proportion.

o Watch Video Solution

16. Divide 500 in the ratio 2:3:5.



https://dl.doubtnut.com/l/_Vn3MiRdeO89b
https://dl.doubtnut.com/l/_9YFIwVBe4X8p
https://dl.doubtnut.com/l/_qlsOfUod2M4f

o Watch Video Solution

17. Divide 714 marbles between Alok and

Kabeer in the ratio 3:4.

o Watch Video Solution

18. A purse contains %1 and 2 coins in the ratio
7:4. If there are 242 coins in the purse, find the

total amount of money in the purse.

o Watch Video Solution



https://dl.doubtnut.com/l/_qlsOfUod2M4f
https://dl.doubtnut.com/l/_trjvgvfPdLuL
https://dl.doubtnut.com/l/_6nA5xy4bAUf5

19. Arrange the following ratios in descending

order. (5:6), (7:8). (9:10)

o Watch Video Solution

20. Arrange the following ratios in ascending

order. (3:8). (5:9). (13:36)

o Watch Video Solution



https://dl.doubtnut.com/l/_6nA5xy4bAUf5
https://dl.doubtnut.com/l/_tcvnMwFZxl5I
https://dl.doubtnut.com/l/_RpctRt9l1qCl

21. What number should be added to each of
the four numbers 4. |, 26, and 12 so that the

new numbers are in proportion?

o Watch Video Solution

22. Check whether the following numbers are

in continued proportion: a. 4.16,64 b.5. 15,50

° Watch Video Solution



https://dl.doubtnut.com/l/_6D8u1KoAsS40
https://dl.doubtnut.com/l/_qqQDzdcaalyi

23. A 2 feet tall child casts a shadow that is 3
feet long. Find the height of the boy whose

shadow is 75 feet long.

o Watch Video Solution

24. If A=3B = 5C, find A:B:C.

o Watch Video Solution

25.1f A:B =1:3 and B: C = 2:5. find A:C.



https://dl.doubtnut.com/l/_Qgw6C9BX9p3a
https://dl.doubtnut.com/l/_twyB3F7pUfD1
https://dl.doubtnut.com/l/_0jfOqjtwc075

o Watch Video Solution

26. Given that x:y = 2:7, find 3x + 5y: 2x +y.

o Watch Video Solution

2
27.Ravi weighs 3 rd of the weight of his elder
5
brother and gth of the weight of his father.
Find the ratio of the weight of his elder

brother to the weight of his father.

o Watch Video Solution



https://dl.doubtnut.com/l/_0jfOqjtwc075
https://dl.doubtnut.com/l/_KWjUZBAE0L7T
https://dl.doubtnut.com/l/_SnfAoRdpmdj2

28. Find two numbers which are in the ratio

2:7 and whose LCM is 126.

o Watch Video Solution

29. The ratio of the ages of Arvind and Renu is
3:5. Five years hence, the ratio of their ages

will be 4:5. Find their present ages.

o Watch Video Solution



https://dl.doubtnut.com/l/_SnfAoRdpmdj2
https://dl.doubtnut.com/l/_C2pNswIBt89r
https://dl.doubtnut.com/l/_a7pR2yzsxNKQ

1. Akhil is riding a bicycle at a speed of 12 km
per hour. How much distance will Akhil cover in

3 hours and 40 minutes?

° Watch Video Solution

2. Archit and Soha start from Point A in their
respective cars. Archit reaches point B in 40
minutes and Soha reaches point B in 24

minutes. If Archit drives at an average speed of


https://dl.doubtnut.com/l/_BjiOtiukRZkD
https://dl.doubtnut.com/l/_o3gDxq2Gecxj

45 km/h, find Soha's average speed and the

distance between Points A and B.

° Watch Video Solution

3. The height of 25 wooden boards is 18.75

inches. Find the height of 55 boards.

o Watch Video Solution

4.30 bags of gravel of 35 kg each cost % 3150.

Find the cost of 50 bags of 45 kg each.


https://dl.doubtnut.com/l/_o3gDxq2Gecxj
https://dl.doubtnut.com/l/_VrOViMXW407X
https://dl.doubtnut.com/l/_EZbNCTus4JLT

° Watch Video Solution

5. Divide the in the ratio indicated:

a. v714 between Pihu and Adil in the ratio 2:5.

o Watch Video Solution

6. Divide the in the ratio indicated:
1696 g of flour between Uma and Navin in the

ratio 3:5.

o Watch Video Solution



https://dl.doubtnut.com/l/_EZbNCTus4JLT
https://dl.doubtnut.com/l/_UQMKaHqBH7Kv
https://dl.doubtnut.com/l/_xb7N54GvI5Oc

7. Divide the in the ratio indicated:

1 1 1

2170 in th tio —:—:—
in eratio o o ¢

° Watch Video Solution

8. Divide the in the ratio indicated:

1 1 1

378 in th tio —:—: —
78 in eralo367

o Watch Video Solution



https://dl.doubtnut.com/l/_xb7N54GvI5Oc
https://dl.doubtnut.com/l/_mNVa5S5xjP2O
https://dl.doubtnut.com/l/_R2fs1oxJpujN

9. Compare the ratios :

3:5and 6:7

o Watch Video Solution

10. Compare the ratios :

3:11 and 2:9

o Watch Video Solution



https://dl.doubtnut.com/l/_qxSt2YQClNSb
https://dl.doubtnut.com/l/_4AzI1uzczGQN

11. Arrange the given ratios as indicated:

2:3,3:54:9 in ascending order

o Watch Video Solution

12. Arrange the given ratios as indicated:

3:7,4:11, 5:13 in descending order

o Watch Video Solution



https://dl.doubtnut.com/l/_4HrwLXE7IkqJ
https://dl.doubtnut.com/l/_7SmCO8taWymg

13. Five pencils cost ©32.50 and 8 pens cost ®
72. Find the ratio of the price of one pen to

the price of one pencil.

o Watch Video Solution

14. One shop is selling 26 pens for % 234 and

the other shop is selling 19 pens for % 152.

° Watch Video Solution



https://dl.doubtnut.com/l/_zimSvux4e2Lm
https://dl.doubtnut.com/l/_Og53WfXCj7Td

15. If X = 5Y = 8Z, find X:Y:Z

o Watch Video Solution

16. If 2A = 5B = 7C, find A:B:C.

o Watch Video Solution

17.1f A:B =3:5 and B: C = 8:11, find A.C.

o Watch Video Solution



https://dl.doubtnut.com/l/_frduasWizqGX
https://dl.doubtnut.com/l/_fQXJ13zPTzhi
https://dl.doubtnut.com/l/_8glWLiseuMY9

18. If A:B = 2:7 and B:C = 9:13, find A:C.

o Watch Video Solution

19.If x: y = 4:7, find 2x + 5y: 3x + 4y.

o Watch Video Solution

20. If x: y = 3:5, find 4x + 5y: 6x + 7y.

o Watch Video Solution



https://dl.doubtnut.com/l/_cQLhUVDw77El
https://dl.doubtnut.com/l/_sC1Zt27fBywM
https://dl.doubtnut.com/l/_biFqmUM0dRvb

21. If two numbers are in the ratio 3:5 and

their LCM is 120, find the numbers.

° Watch Video Solution

22. The LCM of two numbers is 224 and the

numbers are in the ratio 4:7. Find the

numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_KdnZK7wpYlXH
https://dl.doubtnut.com/l/_kA75gMsxwvRi

23. The sides of a triangle are in the ratio 1:2:3.

If the perimeter is 30cm, find the sides.

° Watch Video Solution

24. A field is in the shape of a parallelogram.
The two adjacent sides are in the ratio 4:5. A
fence 216 m long is placed along the boundary
of the field. Find the sides of the

parallelogram.

° Watch Video Solution



https://dl.doubtnut.com/l/_0JmHPmMGOlKo
https://dl.doubtnut.com/l/_j2NBPsNFJwYF

25. Find the value of x if: a. x, 7,9, 21 are in

proportion. b. 6,15, 8, x are in proportion.

o Watch Video Solution

26. What must be added to the given numbers
so that they are in proportion? a. 1, 3,10, 18 b.

23, 34,56, 78

o Watch Video Solution



https://dl.doubtnut.com/l/_j2NBPsNFJwYF
https://dl.doubtnut.com/l/_5N9DWli9YTtg
https://dl.doubtnut.com/l/_vgah8mnK1oz5
https://dl.doubtnut.com/l/_dbOWFJQFMIst

27. Are the following numbers in continued

proportion? a.9,15,25 b. 8, 13, 26

° Watch Video Solution

28. Geeta pours in equal amount of milk into

two different vessels. One vessel is z th full
3

and the otheris 3 th full. Find the ratio of the

volumes of the two vessels.

o Watch Video Solution



https://dl.doubtnut.com/l/_dbOWFJQFMIst
https://dl.doubtnut.com/l/_Vu2e8r0o88zz

3
29. A bottle of water is - th full. This water is
poured into another bottle which is now 3 rd

full. Find the ratio of the volume of the first

bottle to the volume of the second bottle.

o Watch Video Solution

30. A mixed fruit drink has apple, orange, and
pineapple juice in the ratio of 2:3:6. Find the
quantity of each juice in a carton containing

2.2 litres of juice.

| & I


https://dl.doubtnut.com/l/_Om6J8Th83EFC
https://dl.doubtnut.com/l/_yEYfslXpnPGg

| ¥ Watch Video Solution |

31. A bag contains % 1,®% 2,and ¥ 5 coins in the
ratio 4:1:2. The total sum of the money in the

bag is ¥ 320. Find the number of coins of each

kind.

o Watch Video Solution

32. A map is made with the scale 2 cm = 550km.

If the distance between two places in the map


https://dl.doubtnut.com/l/_yEYfslXpnPGg
https://dl.doubtnut.com/l/_K1d8JuX4fsqk
https://dl.doubtnut.com/l/_JAcEGKYnHf32

is 5.25 cm, find the actual distance between

the two places in kilometres and metres.

° Watch Video Solution

33. The ratio of the ages of Riti and Arya is 3:8.
Eight years ago, the ratio of their ages was 1:6.

Find their present ages.

° Watch Video Solution

Revision Exercise



https://dl.doubtnut.com/l/_JAcEGKYnHf32
https://dl.doubtnut.com/l/_UfcY8r7Y7Bta
https://dl.doubtnut.com/l/_fsrKgiMy8Lf2

1. 15 men can build a 16.5 m long wall in one
day. How many men are required to build 66 m

long wall in one day?

o Watch Video Solution

2.1152 bars of soap can be packed in 8 cartons.
How many such cartons are required to pack

3888 bars?

o Watch Video Solution



https://dl.doubtnut.com/l/_fsrKgiMy8Lf2
https://dl.doubtnut.com/l/_q54czIblDu74
https://dl.doubtnut.com/l/_ZiNY8ZQQmGh0

3. Alka and Ritu are participating in a race. Alka
reaches the finishing line in 32 minutes and
Ritu reaches the finishing line in 28 minutes 48
seconds. If Alka runs at an average speed of
9km/h, find the distance they run and also find

Ritu's average speed.

o Watch Video Solution

4. Write the following ratios in their simplest

form. a.36:81b. 48:108 c. 14:91 d. 84: 124

o Watch Video Solution



https://dl.doubtnut.com/l/_ZiNY8ZQQmGh0
https://dl.doubtnut.com/l/_4dOJz5pIAoZ5

5. Write three equivalent ratios for each of the

following: 2:7 3:7 5:6 4:9

o Watch Video Solution

6. Find the ratio of: a. 455 mLto 1.5 L. b. 45 min

t31h
o3z h.

° Watch Video Solution



https://dl.doubtnut.com/l/_4dOJz5pIAoZ5
https://dl.doubtnut.com/l/_xy0cw7IzWxW4
https://dl.doubtnut.com/l/_TYzCjDCjOtTd

7. A cake recipe uses 150 g sugar in 400 g of
flour. Find the ratio of: a. sugar to flour b. flour
to sugar c. sugar to the amount of sugar and

flour

o Watch Video Solution

8. Divide: a. % 600 between A, B, and C in the
ratio 2:3:7

b. 780 among three boys in the ratio :


https://dl.doubtnut.com/l/_OuGbuM1KrGW6
https://dl.doubtnut.com/l/_l1ojahIBWCJE

1 1
5 6
c. Divide 150 m in the ratio 12:8:5.

1 .
>

° Watch Video Solution

9. Arrange the given ratios as indicated:
a. In ascending order:

i. 2:3, 5:7, 5:6, 11:14 ii. 3:5, 2:7, 3:10,9:14

° Watch Video Solution



https://dl.doubtnut.com/l/_l1ojahIBWCJE
https://dl.doubtnut.com/l/_Qxq4GdlZL09M

10. Arrange the given ratios as indicated:
a. In ascending order:
In descending order:

I. 2:3, 3:5, 5:6, 2:9 ii. 1:4, 3:5, 5:6, 7:10

o Watch Video Solution

11.If P=3Q = 7R, find P:Q:R.

o Watch Video Solution



https://dl.doubtnut.com/l/_OaPMsXvCjj7O
https://dl.doubtnut.com/l/_SssWq9ryzDjV

12.If P:Q = 2:9 and Q :R =3:7, find P:R.

o Watch Video Solution

13. Given that x:y= 2:7, find 3x + 4y: 2x + 5y.

o Watch Video Solution

14. Two numbers are in the ratio 4:7 and their

LCM is 84. Find the two numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_UfTKXjoRSisn
https://dl.doubtnut.com/l/_hDOhkLjQDCxQ
https://dl.doubtnut.com/l/_S8Zr6iaXEXVh

15. Jyoti's and Geeta's present ages are in the
ratio of 1:4. After 16 years, the ratio of their

ages will be 1:2 Find their present ages.

o Watch Video Solution

16. Two bags of potatoes are such that the
weight of one bag is 5.5 times the weight of
the other. If the total weight of the two bags is

156 kg, find the weight of each bag.

| & I


https://dl.doubtnut.com/l/_S8Zr6iaXEXVh
https://dl.doubtnut.com/l/_kR7s0pFPXlOC
https://dl.doubtnut.com/l/_htIWY4f40cty

| ¥ Watch Video Solution |

17. A cleansing agent is mixed with water in
the ratio 1:7. In 400 L of solution, find the

amount of the cleansing agent.

o Watch Video Solution

18. In a mixed fruit drink, orange juice, apple
juice, and pineapple juice are mixed in the
ratio 11:10:9. Find the amount of the three

juices in a carton of IL 200 ml of juice.


https://dl.doubtnut.com/l/_htIWY4f40cty
https://dl.doubtnut.com/l/_7gNsAl7wCuMF
https://dl.doubtnut.com/l/_3P32jJ8UIIW3

° Watch Video Solution

19. Yellow, blue, and white colours are mixed in
the ratio 7:6:3. How much of each colour is

required in a can of 960 L of colour?

° Watch Video Solution

20. Find a such that 3, a, 9, and 12 are in

proportion.

o Watch Video Solution



https://dl.doubtnut.com/l/_3P32jJ8UIIW3
https://dl.doubtnut.com/l/_NEdDRtDxHtwl
https://dl.doubtnut.com/l/_cYK5rxUvEnAb

21. What should be added to each of the
numbers 8, 32,and 111 so that the new

numbers are in proportion?

o Watch Video Solution

22. Are the following numbers in continued

proportion? a.9,12,16 b. 4,11, 44

° Watch Video Solution



https://dl.doubtnut.com/l/_cYK5rxUvEnAb
https://dl.doubtnut.com/l/_jNQNTyAHA2O1
https://dl.doubtnut.com/l/_MMbiTYTRdtTh
https://dl.doubtnut.com/l/_8TjZK0NbY9Yz

23. A bag has 50, 100, and 200 notes in the
ratio 3:7:5. If there are 90 notes in the bag find

the amount of money in the bag.

° Watch Video Solution

Warm Up Exercise

1. If Prashant buys two similar mobile phones

for Rs. 18,000, find the cost of three mobile

phones.

° Watch Video Solution



https://dl.doubtnut.com/l/_8TjZK0NbY9Yz
https://dl.doubtnut.com/l/_w7ZMt8qgZj6U

2. Three kilograms of mangoes costs Rs. 195.

Find the cost of five kilograms of mangoes.

o Watch Video Solution

Challenge

1. During his morning walk, Rajiv crosses a

bridge in 7.5 minutes. If he walks at an average

speed of 2 km/h, find the length of the bridge.


https://dl.doubtnut.com/l/_w7ZMt8qgZj6U
https://dl.doubtnut.com/l/_wj37AkPy3Q3S
https://dl.doubtnut.com/l/_7L0llzn1AUkQ

Sanjay crosses the same bridge in 5 minutes.
How much time would Sanjay take in covering

a distance of 1 km? Find the their speeds?

o Watch Video Solution



https://dl.doubtnut.com/l/_7L0llzn1AUkQ

